Name: Subtracting from 1000 (Skill 64)
Subtracting from 1000

1) 1000 - 850 = 11) 1000 - 651 =
2) 1000-112 = 12) 1000 - 538 =
3) 1000 - 851 = 13) 1000 - 203 =
4) 1000 - 363 = 14) 1000 - 606 =
5) 1000 - 997 = 15) 1000 - 380 =
6) 1000 - 427 = 16) 1000 - 373 =
7) 1000 - 341 = 17) 1000 - 696 =
8) 1000 - 162 = 18) 1000 - 163 =
9) 1000 -122 = 19) 1000 - 115 =
10) 1000 - 204 = 20) 1000 - 359 =

Answers, fold under: Mark your work when you have finished.

1) 150 6) 573 11) 349 16) 627
2) 888 7) 659 12) 462 17) 304
3) 149 8) 838 13) 797 18) 837
4) 637 9) 878 14) 394 19) 885
5) 3 10) 796 15) 620 20) 641
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